Manuals+ — User Manuals Simplified.

i Board IB-027C Running Boards Nerf Bars Side Steps

_—

i Board IB-027C Running Boards Nerf Bars Side Steps
Instruction Manual

Home » i Board » i Board IB-027C Running Boards Nerf Bars Side Steps Instruction Manual -

Contents
1 i Board IB-027C Running Boards Nerf Bars Side
Steps
2 PART LIST
3 Mounting Bracket List
4 STEP 1
5 STEP 2
6 STEP 3
7 Documents / Resources
7.1 References

i Board 1B-027C Running Boards Nerf Bars Side Steps


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/i-board
https://manuals.plus/i-board/ib-027c-running-boards-nerf-bars-side-steps-manual.pdf
https://manuals.plus/#i_board_ib-027c_running_boards_nerf_bars_side_steps
https://manuals.plus/#part_list
https://manuals.plus/#mounting_bracket_list
https://manuals.plus/#step_1
https://manuals.plus/#step_2
https://manuals.plus/#step_3
https://manuals.plus/#documents_resources
https://manuals.plus/#references

READ INSTRUCTIONS CAREFULLY BEFORE STARTING INSTALLATION. REMOVE CONTENTS FROM THE
BOX AND VERIFY ALL PARTS ARE PRESENT. ASSISTANCE IS RECOMMENDED.

« ROCKER PANEL MOUNT
o NO DRILLING REQUIRED

Fastener Size | Tightening Torque (ft-lbs) Required
6mm 6-7 X
8mm 16-18 |
10mm 31-32 X
12mm 56-58 X
14mm 92-94 X

PART LIST



Driver Side Step Bar

Mounting Bracket List

Passenger Side Step Bar

Item | QTY Description Item | QTY Description
1# 2 |Passenger Front/ Driver Rear Mounting Brackets | 2# 2 | Driver Front / Passenger Rear Mounting Brackets
« Hardware Package A (For Bracket Installation)
Item | QTY Description Item | QTY Description
1# 12 | M8X1.25-30mm Hex Bolts 34 12 | M8 Lock Washers
2% 12 | M8 Large Flat Washers 4% 8 | M8X1.25 Clip Nuts

o O O© @&

« Hardware Package B (For Stainless Steel Step Bar Installation)




ltem | QTY Description Item | QTY Description

1# 8 |M8X1.25-35mm Carriage Bolts 3# 8 [M8 Nylon Lock Nuts
2% 8 |M8 Large Flat Washers 4 4 |Sliders (Packed with Step Bars)
o B Fe
24 3# J J
44

STEP 1

Start installation from the driver-side front of the vehicle. Locate on the backside of the rocker panel (3) mounting
holes where the plastic fascia is cut out. Select (2) M8 Clip Nuts, and line up the Clip Nuts with the holes. Locate a
threaded hole above the clip nuts on the rocker panel. If equipped, remove the plug to expose the threaded hole.
NOTE: Threaded nut on Clip nut must face inside of the side panel, (Fig 1).

Threaded Hole

(2) M8 Clip Nuts

(Fig 1) Driver Side Front Mounting Location

STEP 2

Attach the assembled Driver Front Bracket to the installed M8 Clip Nuts with the included (2) M8X1.25-30mm Hex
Bolts, (2) M8 Lock Washers and (2) M8 Large Flat Washers; to the threaded hole using (1) M8X1.25-30mm Hex
Bolt, (1) M8 Lock Washers and (1) M8 Large Flat Washer, (Fig 2). Do not fully tighten at this time.



(2) installed
Clip Nuts

—
e T
—
—

- iy

-

(3) M8X1.25-30mm Hex Bolts
(3) M8 Flat Washers
(3) M8 Lock Washers

(Fig 2) Driver Front Mounting Bracket Installation

STEP 3

Move to the driver-side rear mounting location. Repeat Steps 1—2 to install (1) Driver Rear Mounting Bracket, (Fig
3). Do not fully tighten the hardware at this time.

(2) installed
Clip Nuts

(3) M8X1.25-30mm Hex Bolts
(3) M8 Flat Washers
(3) M8 Lock Washers

(Fig 3) Driver Rear Mounting Bracket Installation

STEP 4
Once all (2) Driver side mounting brackets are installed, then proceed to the Step Bar installation. (Figs 4 & 5)



+ = —
EJ i 77\ -___ a
o L- \h[j‘_/fl (.)_/_J'
Slider (2) Carriage Bolts Slider with (2) —_—
Carriage Bolts
(Fig 4) Slider Installation ‘
Step Bar Mounting Bracket
Slider (w/ installed || BICCs
: (2) M8 Large Flat Washers

Carriage Bolts) |~~~ (2) M8 Nylon Lock Nuts

(Fig 5) Step Bar Installation

Select (1) Slider and (2) M8X1.25-35mm Carriage Bolts;
Install (2) M8X1.25-35mm Carriage Bolts in (1) Slider.
Slide the Slider (with carriage bolts) to the Step Bar.
Repeat to install the other (1) slider to the step bar.

Attach the Step Bar (with the Sliders) to the installed mounting brackets.

o o > w Dd o~

Position the Sliders to the installed brackets. Secure the Step Bar to the installed Brackets by using (4) M8
Large Flat Washers (4) M8 Nylon Lock Nuts and (2) Sliders, (Fig 5). Do not fully tighten the hardware at this
time.

Note: The Sliders are packed with the Step Bars. Level and adjust the Step Bar and fully tighten all hardware.

Repeat Steps 1-4 for the other side Step Bar installation. The installation is completed!!!

Attention

« Do periodic inspections of the installation to make sure that all hardware is secure and tight.

« To protect your bars/boards, please use mild soap/non-abrasive products for cleaning only.

Documents / Resources



i Board IB-027C Running Boards Nerf Bars Side Steps [pdf] Instruction Manual
IB-027C Running Boards Nerf Bars Side Steps, IB-027C, Running Boards Nerf Bars Side Steps

, Boards Nerf Bars Side Steps, Nerf Bars Side Steps, Side Steps

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/9945015de27b88d57a86633b5b109e53240891caa688404a1363a25aecabacda
https://manuals.plus/m/9945015de27b88d57a86633b5b109e53240891caa688404a1363a25aecabacda_optim.pdf
https://manual.tools/?p=12938414#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	i Board IB-027C Running Boards Nerf Bars Side Steps Instruction Manual
	i Board IB-027C Running Boards Nerf Bars Side Steps
	PART LIST
	Mounting Bracket List
	STEP 1
	STEP 2
	STEP 3
	Documents / Resources
	References



